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ABSTRACT

On the Basis of tabular values of the gravitational constant. The calculated mass of the Nucleus of the Milky Way galaxy. The numerical value of the
gravitational constant is determined by the mass of the nucleus of the milky way galaxy.
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Introduction

The galactic core determines the distribution of the gravitational
constant within the galaxy. The gravitational constant is no longer
constant inside the galaxy. The farther away from the center

of the galaxy, the smaller it is. The mass of the Galactic core is
determined in terms of the gravitational constant inside the Solar
system (table value).

The Basic Part

Let the center of the nucleus of the galaxy O. The radius of the
ball region of the galaxy is R . The mass of a galaxy M. The Solar
system is at a distance H from the center of the galaxy (fig.1). we
introduce a coordinate system. To the center of the kernel was on
the z axis at a Distance H from the beginning of the coordinate
system. Place a test proton in the origin of the Coordinate system
at point p. In inside the ball volume. dV=R?*sin#/d06d¢o dR.
The number of protons in one cubic meter inside the ball

n= % - vl.wm where V — the volume of a sphere of radius R |, m is
the mass of a proton, p is the density substance inside the ball, M
— mass of the substance inside the bowl The number of protons
inside the volume dV is equal to dN=—R?sinf d6d o dR ; Where

Aeg taken from Heisenberg's uncertamty pr1n01ple.

Ae * At= % ; Take At=1 second, then Ag = zi The energy of the
T

incident proton p per second from the volume dV is equal to

Ag* dN ~——: where r — the radius of the proton (r= 1.5 *10 — '3

m); © = 3.14. R — the distance from the volume dV before the
beginning of the coordinate system. The energy of the incident
proton p. 1 second of the entire volume of a sphere

Mhrr

&= — [[[ sin8d0dedR ; where 0 <6 <arctg 8, 0 <¢ <2m;

H-Ro<R<H+Ro; tg0= E .In view of the smallness of the angle

0 we write arctg 8 =0 =—; In view of the smallness of the

angle 6 we write arctg 0 =0= E ; After calculating the

integral get g =2 M—

v ; Let on the edge of the Solar system. Far

away from massive objects. There are two protons at a distance R
from each other. Energy falling on the p2 proton from the proton

is equal to & = gp o = 2 M
b, ! P YRR 64 TmHHRR’

The impulse received by
the proton p2 in one second is equal to Ap :EC : The force of

attraction between the protons p, and p, is equal to

mm 3

F= Ap 'Y_*_ Mhrrrr

o2 e . Where ¢ — the speed of light in

vacuum. Hence the weight of the Central region of the milky

T mmmcHH

way galaxy M= % Y : where v the table value of the

hrrrr

gravitational constant (y=6.672%¥10 """ u m’kr ).

Take H = 2.65*10%° m. then M = 1.3*10° xr. Conclusion:
the galactic core in the weight specifies a numeric value the
gravitational constant inside the Solar system.

The conclusions
Calculating the mass of the galaxy's core will help advance the
study of outer space.
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